
79/ / 79 /  / / 
79/55/61 79 55/61 61 = GAUCHE (D2; (CHERCHE ("/"; D2;1) -1))=STXT(D2;TROUVE("/";D2)+1;(TROUVE("/";D2)+TROUVE("/";D2))-1) = DROITE (D2; (CHERCHE ("/"; D2;1) -1))
81/63/9 81 /63 /9 /63
/78/8,0 /78 /78
83/ /55 83 / 55 / 

83/70/64 83 /70 64 /70
83/71/

184/73/7,2 4 /7,2 =DROITE(D8;CHERCHE("/";D8;(CHERCHE("/";D8))))
85/ /8,4 3 8,4 #VALUE!

85/123/7,3 3 7,3 #VALUE!
85/43/6,1 3 6,1 #VALUE!
85/44/8,0 3 8,0 #VALUE!
85/58/6,4 3 6,4 #VALUE!
87/ /43 3 /43 #VALUE!
87/ /7,1 3 7,1 #VALUE!


